

GENERALIZED TYPE 2 DEGENERATE THE EULER-GENOCCHI POLYNOMIALS

SI-HYEON LEE, LEE CHAE JANG, WONJOO KIM, AND JONGKYUM KWON

ABSTRACT. Recently, Kim-Kim-Kim introduced generalized degenerate Euler-Genocchi polynomials. From this idea we consider generalized type 2 Euler-Genocchi polynomials as a degenerate version. In this paper, we study some properties and identities of the generalized type 2 degenerate Euler-Genocchi polynomials. In addition, it was expressed as an equation using the Fermionic integral.

1. INTRODUCTION

Many researchers have studied Stirling numbers of the second kind, Euler polynomials, Genocchi polynomials, type 2 Euler polynomials and type 2 Genocchi polynomials of degenerate version and Kim-Kim-Kim studied the generalized degenerate Euler-Genocchi polynomials in [5]. From the generalized degenerate Euler-Genocchi polynomials, we study generalized type 2 degenerate Euler-Genocchi polynomials. The purpose of this paper is to define the generalized type 2 degenerate Euler-Genocchi polynomials and derived some properties and identities of them. And we also, investigate the generalized type 2 degenerate Euler-Genocchi polynomials as Fermionic integral. Furthermore, we obtain some properties and identities between those polynomials, the degenerate Stirling number of second kind, the type 2 degenerate Euler polynomials, the degenerate Genocchi polynomials, the type 2 degenerate Genocchi polynomials, degenerate Euler-Genocchi polynomials and special polynomials.

Let p be a fixed odd prime number. In this paper, \mathbb{Z}_p , \mathbb{Q}_p and \mathbb{C}_p will denote the ring of p -adic integers, the field of p -adic rational numbers and the completion of the algebraic closure of \mathbb{Q}_p . The p -adic norm is denoted as $|p|_p = \frac{1}{p}$.

The Fermionic p -adic integral of f on \mathbb{Z}_p was introduced by Kim as

$$(1) \quad \int_{\mathbb{Z}_p} f(x) d\mu_{-1}(x) = \lim_{N \rightarrow \infty} \sum_{x=0}^{p^N-1} f(x) \mu_{-1}(x + p^N \mathbb{Z}_p) \\ = \lim_{N \rightarrow \infty} \sum_{x=0}^{p^N-1} f(x) (-1)^x, \quad (\text{see}[1, 9, 10, 13]).$$

From (1), we note that

$$(2) \quad \int_{\mathbb{Z}_p} f(x+1) d\mu_{-1} + \int_{\mathbb{Z}_p} f(x) d\mu_{-1} = 2f(0), \quad (\text{see}[1, 9, 10, 13]).$$

For any $\lambda \neq 0 \in \mathbb{R}$, the degenerate exponential functions $e_\lambda^x(t)$ are defined by

$$(3) \quad e_\lambda^x(t) = (1 + \lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} (x)_{n,\lambda} \frac{t^n}{n!}, \quad (\text{see}[1 - 12]).$$

where $(x)_{0,\lambda} = 1$, $(x)_{n,\lambda} = x(x - \lambda)(x - 2\lambda) \cdots (x - (n - 1)\lambda)$, $(n \geq 1)$.

The Stirling numbers of second kind $S_{2,\lambda}(n, k)$ are defined as

$$(4) \quad x^n = \sum_{l=0}^n S_2(n, l)(x)_l, (n \geq 0), \quad (\text{see}[1 - 12]).$$

From (4), we note that

$$(5) \quad \frac{1}{k!}(e^t - 1)^k = \sum_{n=k}^{\infty} S_2(n, k) \frac{t^n}{n!}, (k \geq 0), \quad (\text{see}[1 - 12]).$$

The degenerate Stirling numbers of the second kind are defined by

$$(6) \quad (x)_{n,\lambda} = \sum_{k=0}^n S_{2,\lambda}(n, k)(x)_{k,\lambda}, (n \geq 0), \quad (\text{see}[1 - 12]).$$

From (6), we note that

$$(7) \quad \frac{1}{k!}(e_\lambda(t) - 1)^k = \sum_{n=k}^{\infty} S_{2,\lambda}(n, k) \frac{t^n}{n!}.$$

It is well known that the Euler polynomials $E_n(x)$ are defined by the generating functions to be

$$(8) \quad \frac{2}{e^t + 1} e^{xt} = \sum_{n=0}^{\infty} E_n(x) \frac{t^n}{n!}, \quad (\text{see}[2, 3, 7, 10]).$$

When $x = 0$, $E_n = E_n(0)$ are called the Euler numbers.

The degenerate Euler polynomials $E_{n,\lambda}(x)$ are defined by

$$(9) \quad \frac{2}{e_\lambda(t) + 1} e_\lambda^x(x) = \sum_{n=0}^{\infty} E_{n,\lambda}(x) \frac{t^n}{n!}, \quad (\text{see}[2, 3, 7, 10]).$$

The degenerate Genocchi polynomials $G_{n,\lambda}(x)$ are defined by

$$(10) \quad \frac{2t}{e_\lambda(t) + 1} e_\lambda^x(t) = \sum_{n=0}^{\infty} G_{n,\lambda}(x) \frac{t^n}{n!}, \quad (\text{see}[3, 4, 5, 8, 11]).$$

The degenerate type 2 Euler polynomials $\epsilon_{n,\lambda}^*(x)$ are given by

$$(11) \quad \frac{2}{e_\lambda(t) + e_\lambda^{-1}(t)} e_\lambda^x(t) = \sum_{n=0}^{\infty} \epsilon_{n,\lambda}^*(x) \frac{t^n}{n!}, \quad (\text{see}[7, 14]).$$

When $x = 0$ $\epsilon_{n,\lambda}^* = \epsilon_{n,\lambda}^*(0)$ are called the degenerate type 2 Euler numbers. The degenerate type 2 Euler polynomials

$$(12) \quad \left(\frac{2}{e_\lambda(t) + e_\lambda^{-1}(t)} \right)^r e_\lambda^x(t) = \sum_{n=0}^{\infty} \epsilon_{n,\lambda}^{*(r)}(x) \frac{t^n}{n!}, \quad (\text{see}[7, 14]).$$

The modified degenerate polyexponential function $Ei_{k,\lambda}(x)$ which is given by

$$(13) \quad Ei_{k,\lambda}(x) = \sum_{n=1}^{\infty} \frac{x^n(1)_{n,\lambda}}{(n-1)!n^k}, (k \in \mathbb{Z}), \quad (\text{see}[8, 11]).$$

The degenerate type 2 poly-Genocchi polynomials $G_{n,\lambda}^*(x)$ are defined by

$$(14) \quad \frac{2Ei_{k,\lambda}(\log \lambda(1+t))}{e_\lambda(t) + e_\lambda^{-1}(t)} e_\lambda^x(t) = \sum_{n,\lambda}^{\infty} G_{n,\lambda}^{*(k)}(x) \frac{t^n}{n!}, \quad (\text{see}[8, 11]).$$

When $x = 0, G_{n,\lambda}^{*(k)} = G_{n,\lambda}^{*(k)}(0)$ are called the type 2 degenerate poly-Genocchi numbers. The type 2 degenerate Genocchi numbers of order r are defined by

$$(15) \quad \left(\frac{2t}{e_\lambda(t) + e_\lambda^{-1}(t)} \right)^r e_\lambda^x(t) = \sum_{n,\lambda} G_{n,\lambda}^{*(r)}(x) \frac{t^n}{n!}, \quad (\text{see}[8, 11]).$$

Note that $G_{n,\lambda}^{*(r)}(x) = G_{n,\lambda}^{*(r)}(0)$ are called the type 2 degenerate Genocchi numbers of order r . The generalized Euler-Genocchi polynomials $A_{n,\lambda}^{(r)}(x)$ are given by

$$(16) \quad \frac{2t^r}{e_\lambda(t) + 1} e_\lambda^x(t) = \sum_{n=0}^\infty A_{n,\lambda}^{(r)}(x) \frac{t^n}{n!}, \quad (\text{see}[5]).$$

When $x = 0, A_{n,\lambda}^{(r)} = A_{n,\lambda}^{(r)}(0)$ are called Euler-Genocchi numbers.

Note that we take $f(x) = e_\lambda^{2x}(t)$, then $f(0) = 1$ and $f(x+1) = e_\lambda^{2(x+1)}(t) = e_\lambda^2(t)e_\lambda^{2x}(t)$.

Thus, by (2) we have

$$(17) \quad \int_{Z_p} e_\lambda^{2x}(t) d_{\mu-1} = \frac{2}{e_\lambda^2(t) + 1}$$

From (17), we observe that

$$(18) \quad \begin{aligned} \frac{2}{e_\lambda(t) + e_\lambda^{-1}(t)} e_\lambda^x(t) &= \int_{Z_p} e_\lambda^{(2y+x+1)}(t) d_{\mu-1}(y) \\ &= \sum_{n=0}^\infty \int_{Z_p} (x+2y+1)_{n,\lambda} d_{\mu-1}(y) \frac{t^n}{n!}, \quad (\text{see}[9, 10, 13]). \end{aligned}$$

Thus, by (2) and (18), we get

$$(19) \quad \epsilon_{n,\lambda}^*(x) = \int_{Z_p} (x+2y+1)_{n,\lambda} d_{\mu-1}(y), \quad (\text{see}[9, 10, 13]).$$

2. GENERALIZED OF THE TYPE2 DEGENERATE EULER-GENOCCHI POLYNOMIALS AND NUMBERS

For any $r \in \mathbb{Z}$, we consider the generalized type 2 degenerate Genocchi-Euler polynomials given by

$$(20) \quad \frac{2t^r}{e_\lambda(t) + e_\lambda^{-1}(t)} e_\lambda^x(t) = \sum_{n=0}^\infty A_{n,\lambda}^{*(r)}(x) \frac{t^n}{n!}.$$

When $x = 0, A_{n,\lambda}^{*(r)} = A_{n,\lambda}^{*(r)}(0)$ are called the generalized type 2 Genocchi-Euler numbers.

we observe that special value in (20) Then we note that if $r = 0$, we get

$$\sum_{n=0}^\infty A_{n,\lambda}^{*(0)}(x) \frac{t^n}{n!} = \frac{2}{e_\lambda(t) + e_\lambda^{-1}(t)} e_\lambda^x(t) = \sum_{n=0}^\infty \epsilon_{n,\lambda}^*(x) \frac{t^n}{n!}.$$

That is, $A_{n,\lambda}^{*(0)}(x) = \epsilon_{n,\lambda}^*(x)$. where $\epsilon_{n,\lambda}^*(x)$ is the type 2 degenerate Euler polynomials, and if $r = 1$, we get

$$\sum_{n=0}^\infty A_{n,\lambda}^{*(1)}(x) \frac{t^n}{n!} = \frac{2t}{e_\lambda(t) + e_\lambda^{-1}(t)} e_\lambda^x(t) = \sum_{n=0}^\infty G_{n,\lambda}^*(x) \frac{t^n}{n!}.$$

That is, $A_{n,\lambda}^{*(1)}(x) = G_{n,\lambda}^*(x)$, where $G_{n,\lambda}^{*(0)}$ is the degenerate type 2 poly-Genocchi polynomials with $k = 0$.

By (20), we have

$$\begin{aligned}
 (21) \quad \sum_{n=0}^{\infty} A_{n,\lambda}^{*(r)}(x+1) \frac{t^n}{n!} &= \frac{2t^r}{e_\lambda(t) + e_\lambda^{-1}(t)} e_\lambda^x(t) e_\lambda(t) \\
 &= \sum_{m=0}^{\infty} A_{m,\lambda}^{*(r)}(x) \frac{t^m}{m!} \sum_{l=0}^{\infty} (1)_{l,\lambda} \frac{t^l}{l!} \\
 &= \sum_{n=0}^{\infty} \sum_{m=0}^n (1)_{n-m,\lambda} A_{m,\lambda}^{*(r)}(x) \frac{n!}{m!(n-m)!} \frac{t^n}{n!} \\
 &= \sum_{n=0}^{\infty} \sum_{m=0}^n \binom{n}{m} (1)_{n-m,\lambda} A_{m,\lambda}^{*(r)}(x) \frac{t^n}{n!}.
 \end{aligned}$$

Thus by comparing the both sides (21), we have the following theorem.

Theorem 1. For $n \geq 0$, we have

$$A_{n,\lambda}^{*(r)}(x+1) = \sum_{m=0}^n \binom{n}{m} (1)_{n-m,\lambda} A_{m,\lambda}^{*(r)}(x).$$

By (20), we get

$$\begin{aligned}
 (22) \quad \sum_{n=0}^{\infty} A_{n,\lambda}^{*(r)}(x) \frac{t^n}{n!} &= \frac{2t^r}{e_\lambda(t) + e_\lambda^{-1}(t)} e_\lambda^x(t) \\
 &= \sum_{m=0}^{\infty} A_{m,\lambda}^{*(r)} \frac{t^m}{m!} \sum_{l=0}^{\infty} (x)_{n,\lambda} \frac{t^l}{l!} \\
 &= \sum_{m=0}^{\infty} A_{m,\lambda}^{*(r)} \frac{t^m}{m!} \sum_{l=0}^l \sum_{k=0}^l S_{2,\lambda}(l,k)(x) \frac{t^n}{n!} \\
 &= \sum_{n=0}^{\infty} \sum_{l=0}^n \sum_{k=0}^l \binom{n}{l} A_{n-l,\lambda}^{*(r)} S_{2,\lambda}(l,k)(x) \frac{t^n}{n!}.
 \end{aligned}$$

By comparing the coefficients of both side (22), we have the following theorem.

Theorem 2. For $n \geq 0$, we have

$$A_{n,\lambda}^{*(r)}(x) = \sum_{l=0}^n \sum_{k=0}^l \binom{n}{l} A_{n-l,\lambda}^{*(r)} S_{2,\lambda}(l,k)(x).$$

we observe (18) and (20), then we have

$$\begin{aligned}
 (23) \quad \sum_{n=0}^{\infty} A_{n,\lambda}^{*(r)}(x) \frac{t^n}{n!} &= \frac{2t^r}{e_\lambda(t) + e_\lambda^{-1}(t)} e_\lambda^x(t) \\
 &= \int_{Z_p} e_\lambda^{2y+1}(t) d_{\mu-1}(y) t^r e_\lambda^x(t) \\
 &= \sum_{n=0}^{\infty} \int_{Z_p} (2y+x+1)_{n,\lambda} d_{\mu-1}(y) \frac{t^{n+r}}{n!} \\
 &= \sum_{n=r}^{\infty} \int_{Z_p} (2y+x+1)_{n-r,\lambda} d_{\mu-1}(y) \binom{n}{r} \frac{t^n}{n!}.
 \end{aligned}$$

Thus by comparing the both sides (23), we have the following theorem.

Theorem 3. For $n \geq 0$, we have

$$A_{n,\lambda}^{*(r)}(x) = \begin{cases} \int_{Z_p} (2y+x+1)_{n-r,\lambda} d_{\mu-1}(y)(n)_r, & \text{if } n \geq r, \\ 0, & \text{if } 0 < n < r. \end{cases}$$

By (20), we have

$$\begin{aligned} (24) \quad \sum_{n=0}^{\infty} A_{n,\lambda}^{*(r)}(x) \frac{t^n}{n!} &= \frac{2t^r}{e_\lambda(t) + e_\lambda^{-1}(t)} e_\lambda^x(t) \\ &= \int_{Z_p} e_\lambda^{2y+1}(t) d_{\mu-1}(y) t^r \sum_{l=0}^{\infty} (x)_{l,\lambda} \frac{t^l}{l!} \\ &= \sum_{m=0}^{\infty} \int_{Z_p} (2y+1)_{n,\lambda} d_{\mu-1}(y) \frac{t^m}{m!} \sum_{l=0}^{\infty} (x)_{l,\lambda} \frac{t^l}{l!} \\ &= \sum_{m=0}^{\infty} \mathcal{E}_{m,\lambda}^* \frac{t^m}{m!} \sum_{l=0}^{\infty} (x)_{l,\lambda} \frac{t^l}{l!} \\ &= \sum_{n=0}^{\infty} \sum_{m=0}^n \binom{n}{m} (x)_{n-m,\lambda} \mathcal{E}_{m,\lambda}^* \frac{t^n}{n!}. \end{aligned}$$

Thus by comparing the coefficients of both sides (24), we have following theorem.

Theorem 4. For $n \geq 0$, we have

$$A_{n,\lambda}^{*(r)}(x) = \sum_{m=0}^n \binom{n}{m} (x)_{n-m,\lambda} \mathcal{E}_{m,\lambda}^*.$$

By (20), we have

$$(25) \quad e_\lambda^{x+1}(t) = \frac{e_\lambda^2(t) + 1}{2t^2} \sum_{n=0}^{\infty} A_{n,\lambda}^{*(r)}(x) \frac{t^n}{n!}$$

From (25), we get

$$\begin{aligned} (26) \quad \sum_{n=0}^{\infty} (x+1)_{n,\lambda} \frac{t^n}{n!} &= \frac{1}{2} \left(\sum_{m=0}^{\infty} A_{m,\lambda}^{*(r)}(x) \frac{t^{m-r}}{m!} \right) \sum_{l=0}^{\infty} (2)_{l,\lambda} \frac{t^l}{l!} + \frac{1}{2} \sum_{n=0}^{\infty} A_{n,\lambda}^{*(r)}(x) \frac{t^{n-r}}{n!} \\ &= \frac{1}{2} \left(\sum_{m=0}^{\infty} A_{m+r,\lambda}^{*(r)}(x) \frac{m!}{(m+r)! m!} \right) \sum_{l=0}^{\infty} (2)_{l,\lambda} \frac{t^l}{l!} + \frac{1}{2} \sum_{n=0}^{\infty} A_{n+r,\lambda}^{*(r)}(x) \frac{n!}{(n+r)! n!} \\ &= \frac{1}{2} \sum_{n=0}^{\infty} \sum_{m=0}^n \binom{n}{m} \frac{m!}{(m+r)!} (2)_{n-m,\lambda} A_{m+r,\lambda}^{*(r)}(x) \frac{t^n}{n!} + \frac{1}{2} \sum_{n=0}^{\infty} A_{n+r,\lambda}^{*(r)}(x) \frac{n!}{(n+r)! n!} \\ &= \sum_{n=0}^{\infty} \frac{1}{2} \left(\sum_{m=0}^n \binom{n}{m} (2)_{n-m,\lambda} \frac{A_{n+r,\lambda}^{*(r)}(x)}{(m+r)_r} + \frac{A_{n+r,\lambda}^{*(r)}(x)}{(n+r)_r} \right) \frac{t^n}{n!}. \end{aligned}$$

Thus by comparing the coefficients both sides in (26), we have the following theorem.

Theorem 5. For $n \geq 0$, we have

$$(x+1)_{n,\lambda} = \left(\sum_{m=0}^n \binom{n}{m} (2)_{n-m,\lambda} \frac{A_{n+r,\lambda}^{*(r)}(x)}{(m+r)_r} + \frac{A_{n+r,\lambda}^{*(r)}(x)}{(n+r)_r} \right).$$

For nonzero $\alpha \in \mathbb{C}$ and $r \in \mathbb{Z}$, we consider the generalized type 2 degenerate the Euler-Genocchi polynomials of order α which are given by

$$(27) \quad t^r \left(\frac{2}{e_\lambda(t) + e_\lambda^{-1}(t)} \right)^\alpha e_\lambda^x(t) = \sum_{n=0}^{\infty} A_{n,\lambda}^{*(r,\alpha)}(x) \frac{t^n}{n!}.$$

When $x = 0$, $A_{n,\lambda}^{*(r,\alpha)} = A_{n,\lambda}^{*(r,\alpha)}(0)$ are called the generalized type 2 degenerate numbers of order α . By (27), we have

$$(28) \quad \begin{aligned} \sum_{n=0}^{\infty} A_{n,\lambda}^{*(r,\alpha)}(x) \frac{t^n}{n!} &= \sum_{m=0}^{\infty} A_{m,\lambda}^{*(r,\alpha)} \frac{t^m}{m!} \sum_{l=0}^{\infty} (x)_{l,\lambda} \frac{t^l}{l!} \\ &= \sum_{n=0}^{\infty} \sum_{m=0}^n A_{m,\lambda}^{*(r,\alpha)}(x)_{n-m,\lambda} \frac{n!}{m!(n-m)!} \frac{t^n}{n!} \\ &= \sum_n \sum_{m=0}^n \binom{n}{m} A_{n,\lambda}^{*(r,\alpha)}(x)_{n-m,\lambda} \frac{t^n}{n!}. \end{aligned}$$

Thus comparing the coefficients of both sides in (28), we have the following theorem.

Theorem 6. For $n \geq 0$, we have

$$A_{n,\lambda}^{*(r,\alpha)}(x) = \binom{n}{m} A_{m,\lambda}^{*(r,\alpha)}(x)_{n-m,\lambda}.$$

Let $\alpha = -m(m \in \mathbb{N})$. Then we have

$$(29) \quad \begin{aligned} \sum_{n=0}^{\infty} A_{n,\lambda}^{*(r,-m)} \frac{t^n}{n!} &= t^r \left(\frac{2}{e_\lambda(t) + e_\lambda^{-1}(t)} \right)^{-m} e_\lambda^x(t) \\ &= \frac{t^r}{2^m} (e_\lambda(t) + e_\lambda^{-1}(t))^m e_\lambda^x(t) \\ &= \frac{t^r}{2^m} (e_\lambda^2 + 1)^m e_\lambda^{x-m}(t) \\ &= \frac{t^r}{2^m} \sum_{k=0}^m \binom{m}{k} e_\lambda^{2k+x-m}(t) \\ &= \frac{1}{2^m} \sum_{k=0}^m \binom{m}{k} \sum_{l=0}^{\infty} (2k+x-m)_{l,\lambda} \frac{t^{l+r}}{l!} \\ &= \sum_{n=r}^{\infty} \frac{1}{2^m} \sum_{k=0}^{\infty} \binom{m}{k} (2k+x-m)_{n-r}(n)_r \frac{t^n}{n!}. \end{aligned}$$

Thus comparing the coefficients of both sides in (29), we have the following theorem.

Theorem 7. For $n \geq 0$, we have

$$A_{n,\lambda}^{*(r,-m)}(x) = \begin{cases} \frac{1}{2^m} \sum_{k=0}^m \binom{m}{k} (2k+x-m)_{n-r}(n)_r, & \text{if } n \geq r, \\ 0, & \text{if } 0 < n < r. \end{cases}$$

By (27), we get

$$\begin{aligned}
 (30) \quad \sum_{n=0}^{\infty} A_{n,\lambda}^{*(r,\alpha)}(x) \frac{t^n}{n!} &= \left(\frac{2}{e_\lambda(t) + e_{\lambda^{-1}}(t)} \right)^\alpha e_\lambda^x(t) \\
 &= t^r \sum_{m=0}^{\infty} \mathcal{E}_{m,\lambda}^{*(\alpha)} \frac{t^m}{m!} \sum_{l=0}^{\infty} (x)_{l,\lambda} \frac{t^l}{l!} \\
 &= t^r \sum_{n=0}^{\infty} \sum_{m=0}^n \binom{n}{m} \mathcal{E}_{m,\lambda}^{*(\alpha)}(x)_{n-m,\lambda} \frac{t^n}{n!} \\
 &= \sum_{n=r}^{\infty} \sum_{m=0}^{n-r} \binom{n-r}{m} (n)_r \mathcal{E}_{m,\lambda}^{*(\alpha)}(x)_{n-m-r,\lambda} \frac{t^n}{n!}.
 \end{aligned}$$

Thus comparing the coefficients of both sides in (30) we have the following theorem.

Theorem 8. For $n \geq 0$, we have

$$A_{n,\lambda}^{*(r,\alpha)}(x) = \begin{cases} \sum_{m=0}^{n-r} \binom{n-r}{m} (n)_r \mathcal{E}_{m,\lambda}^{*(\alpha)}(x)_{n-m-r,\lambda}, & \text{if } n \geq r, \\ 0, & \text{if } 0 < n < r. \end{cases}$$

By (27), we get

$$\begin{aligned}
 (31) \quad \sum_{n=0}^{\infty} A_{n,\lambda}^{*(r,\alpha)}(x) \frac{t^n}{n!} &= t^{r-\alpha} \left(\frac{2t}{e_\lambda(t) + e_{\lambda^{-1}}(t)} \right)^\alpha e_\lambda^x(t) \\
 &= t^{r-\alpha} \sum_{m=0}^{\infty} G_{m,\lambda}^{*(\alpha)} \frac{t^m}{m!} \sum_{l=0}^{\infty} (x)_{l,\lambda} \frac{t^l}{l!} \\
 &= \sum_{l=0}^{\infty} (x)_{l,\lambda} \frac{t^l}{l!} \sum_{m=0}^{\infty} G_{m,\lambda}^{*(\alpha)} \frac{t^{m+r-\alpha}}{m!} \\
 &= \sum_{l=0}^{\infty} (x)_{l,\lambda} \frac{t^l}{l!} \sum_{m=r-\alpha}^{\infty} G_{m-r+\alpha,\lambda}^{*(\alpha)} \frac{m!}{(m-r+\alpha)!} \frac{t^m}{m!} \\
 &= \sum_{n=r-\alpha}^{\infty} \sum_{l=0}^n \binom{n}{l} (x)_{l,\lambda} G_{n-l-r+\alpha}^{*(\alpha)} (n-l)_{r-\alpha} \frac{t^n}{n!}.
 \end{aligned}$$

Thus comparing the coefficients of both sides (31), we have the following theorem.

Theorem 9. For $n \geq 0$ and $\alpha, r \in \mathbb{Z}, (r \leq \alpha)$, we have

$$A_{n,\lambda}^{*(r,\alpha)}(x) = \begin{cases} \sum_{l=0}^n \binom{n}{l} (x)_{l,\lambda} G_{n-l-r+\alpha}^{*(\alpha)} (n-l)_{r-\alpha}, & \text{if } n \geq r - \alpha, \\ 0, & \text{if } 0 < n < r - \alpha. \end{cases}$$

By (18) and (27), we have

$$\begin{aligned}
 (32) \quad & \sum_{n=0}^{\infty} A_{n,\lambda}^{*(r,\alpha)}(x) \frac{t^n}{n!} \\
 &= t^r \left(\int_{Z_p} e_{\lambda}^{(2y_1+1)}(t) d_{\mu-1}(y_1) \right) \cdots \left(\int_{Z_p} e_{\lambda}^{(2y_{\alpha}+1)}(t) d_{\mu-1}(y_{\alpha}) \right) e_{\lambda}^x(t) \\
 &= t^r \left(\int_{Z_p} \cdots \int_{Z_p} e_{\lambda}^{(2y_1+2y_2+\cdots+2y_{\alpha}+\alpha)}(t) d_{\mu-1}(y_1) d_{\mu-1}(y_2) \cdots d_{\mu-1}(y_{\alpha}) \right) \sum_{l=0}^{\infty} (x)_{l,\lambda} \frac{t^l}{l!} \\
 &= t^r \sum_{m=0}^{\infty} \left(\int_{Z_p} \int_{Z_p} \cdots \int_{Z_p} (2y_1 + \cdots + 2y_{\alpha} + \alpha)_{m,\lambda} d_{\mu-1}(y_1) d_{\mu-1}(y_2) \cdots d_{\mu-1}(y_{\alpha}) \frac{t^m}{m!} \right) \sum_{l=0}^{\infty} (x)_{l,\lambda} \frac{t^l}{l!} \\
 &= \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} \left(\int_{Z_p} \cdots \int_{Z_p} (2y_1 + \cdots + 2y_{\alpha} + \alpha)_{m,\lambda} d_{\mu-1}(y_1) \cdots d_{\mu-1}(y_{\alpha}) \right) (x)_{n-m,\lambda} \binom{n}{m} \frac{t^{n+r}}{n!} \\
 &= \sum_{n=r}^{\infty} \sum_{m=0}^{\infty} \left(\int_{Z_p} \cdots \int_{Z_p} (2y_1 + \cdots + 2y_{\alpha} + \alpha)_{m,\lambda} d_{\mu-1}(y_1) \cdots d_{\mu-1}(y_{\alpha}) \right) (x)_{n-m,\lambda} \binom{n}{m} (n)_r \frac{t^n}{n!}.
 \end{aligned}$$

Thus comparing the coefficients of both sides in (32), we have the following theorem.

Theorem 10. For $n \geq 0$, we have

$$\begin{aligned}
 & A_{n,\lambda}^{*(r,\alpha)}(x) \\
 &= \begin{cases} \sum_{n=r}^{\infty} \sum_{m=0}^{\infty} \left(\int_{Z_p} \cdots \int_{Z_p} (2y_1 + \cdots + 2y_{\alpha} + \alpha)_{m,\lambda} d_{\mu-1}(y_1) \cdots d_{\mu-1}(y_{\alpha}) \right) (x)_{n-m,\lambda} \binom{n}{m} (n)_r, & \text{if } n \geq r, \\ 0, & \text{if } 0 \leq n < r. \end{cases}
 \end{aligned}$$

3. CONCLUSION

Recently, Kim-Kim-Kim introduced degenerate Euler-Genocchi polynomials and obtained interesting results. Motivated by these investigations, we defined the type 2 degenerate Euler-Genocchi polynomials in (18) and obtained some properties in Theorem 3 and Theorem 10 and identities in Theorem 1, Theorem 5-7. We derived interesting relations involving these polynomials with Stirling number of second kind in Theorem 2, degenerate Euler polynomials in Theorem 4, degenerate Genocchi polynomials, degenerate type 2 Euler polynomials in Theorem 8, type 2 poly-Genocchi polynomials in Theorem 9 and Fermionic integral in Theorem 10. In addition, we consider high order α of generalized type 2 degenerate Euler-Genocchi polynomials. Likewise, we obtained some properties and identities with the special polynomials and Fermionic integral.

REFERENCES

- [1] D. S. Kim, H. Y. Kim, S.S. Pyo, T. Kim, Some identities of special numbers and polynomials arising from p-adic integrals on \mathbb{Z}_p , *Advances in Difference Equations* <https://doi.org/10.1186/s13662-019-2129-x>.
- [2] L. Carlitz, Degenerate Stirling, Bernoulli and Eulerian numbers. *Utilitas Math*, 15(1979), pp. 51-88.
- [3] M. Goubi, On a generalized family of Euler-Genocchi polynomials. *Integers*, 21(2021), paper No. A48, 13pp.
- [4] S.H. Rim, S. J. Lee, E. J. Moon, J. H. Jin, On the q-Genocchi numbers and polynomials associated with q-zeta function. *Proc. Jangjeon Math. Soc.* 12 (2009), no. 3, 261-267.
- [5] T. Kim, D.S. Kim, H.K. Kim, On generalized degenerate Euler-Genocchi polynomials, *Applied Mathematics in Science and Engineering*, Vol. 31, No. 1, (2022), 2159958.

- [6] T. Kim, D. S. Kim, and H. K. Kim, Some identities related to degenerate Stirling numbers of the second kind, *Demonstratio Mathematica* <https://doi.org/10.1515/dema-2022-0170>.
- [7] T. Kim, D. S. Kim, L.C. Jang, H.Y. Kim, On type 2 degenerate Bernoulli and Euler polynomials of complex variable, *Advances in Difference Equations* (2019) 2019:490 <https://doi.org/10.1186/s13662-019-2419-3>.
- [8] T. Kim, D. S. Kim, J.K. Kwon, H. Y. Kim, A note on degenerate Genocchi and poly-Genocchi numbers and polynomials, *Kim et al. Journal of Inequalities and Applications* (2020) 2020:110 <https://doi.org/10.1186/s13660-020-02378-w>.
- [9] T. Kim, J. Choi, Y. H. Kim, C. S. Ryoo, On the Fermionic p -adic Integral Representation of Bernstein Polynomials Associated with Euler Numbers and Polynomials, *Hindawi Publishing Corporation Journal of Inequalities and Applications* Volume 2010, Article ID 864247, 12 pages [doi:10.1155/2010/864247](https://doi.org/10.1155/2010/864247).
- [10] T. Kim, On the analogs of Euler numbers and polynomials associated with p -adic q -integral on Z_p at $q = -1$, *J. Math. Anal. Appl.* 331 (2007), no. 2, 779–792. <https://doi.org/10.1016/j.jmaa.2006.09.027>.
- [11] Y.J. KIM, S.B. Park, S.S. Pyo, J.K.Kwon, Some identities of type 2 degenerate poly-Genocchi numbers and polynomials, *Advanced Studies in Contemporary Mathematics* 32 (2022), No. 4, pp. 527 - 541.
- [12] T. Kim, D. S. Kim, Some Identities Involving Degenerate Stirling Numbers Associated with Several Degenerate Polynomials and Numbers, *Russ. J. Math. Phys.* 30 (2023), no. 1, 62–75.
- [13] D. S. Kim, T. Kim, H. Y. Kim, J.K.Kwon, A note on type 2 q -Bernoulli and type 2 q -Euler polynomials, *Journal of Inequalities and Applications* (2019) 2019:181 <https://doi.org/10.1186/s13660-019-2131-6>.
- [14] G.W. Jang, T. Kim, A note on type 2 degenerate Euler and Bernoulli polynomials. *Advanced Studies in Contemporary Mathematics* 29 (2019), No. 1, pp. 147 - 159.

DEPARTMENT OF MATHEMATICS, KWANGWOON UNIVERSITY, SEOUL 139-701, REPUBLIC OF KOREA
Email address: ugug11@naver.com

GRADUATE SCHOOL OF EDUCATION, KONKUK UNIVERSITY, SEOUL, 05029, REPUBLIC OF KOREA
Email address: lcjang@konkuk.ac.kr

DEPARTMENT OF APPLIED MATHEMATICS, KYUNGHEE UNIVERSITY, SEOUL, REPUBLIC OF KOREA
Email address: wjookim@khu.ac.kr

DEPARTMENT OF MATHEMATICS EDUCATION, GYEONGSANG NATIONAL UNIVERSITY JINJU 52828, REPUBLIC OF KOREA
Email address: mathkjk26@gnu.ac.kr